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PART A — (10  1 = 10 marks) 

Answer ALL questions. 

 Choose the correct answer : 

1. ö£õ¸Íõuõμ ÁÍºa] Gß£x ————— |õkPøÍa 
\õº¢ux.  

 (A) ÁÍ¸®  (B) ÁÍºa] SßÔ¯ 

 (C) ÁÍº¢u  (D) ÁÍºa] CÀ»õ 

 Economic growth relates to ————— countries. 

 (a) developing (b) underdeveloped 

 (c) developed  (d) undeveloped 
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2. ‘‘J¸ |õk HøÇ¯õP C¸UQßÓx HöÚßÓõÀ Ax 
HøÇ’’ ¯õ¸øh¯ TØÖ Cx? 

 (A) Bº.Gß.|ºUì (B) ÷á.G® Rß_ 

 (C) ¤S   (D) îUì 

 ‘‘A country is poor because it is poor’’ – whose state 
is this?  

 (a) R.N. Nurkse (b) J.M. Keynes 
 (c) Pigou  (d) Hicks 

3. ÷μõìhõÂß TØÖ¨£i ö£õ¸Íõuõμ ÁÍºa]°ß 
•uÀ £i¯õÚx 

 (A) ÁÈÁÈ¯õÚ \•uõ¯® 

 (B) GÊ®¦ {ø»US •¢øu¯ {ø» 

 (C) GÊ®¦ {ø» 

 (D) GxÄªÀø» 

 According to Rostow, the first stage of economic 
growth is  

 (a) the traditional society 
 (b) the precondition for take off 
 (c) take off 
 (d) none 

4. ö£¸® E¢xuÀ ÷Põm£õmøh ÁÇ[Q¯Áº 

 (A) ¼¤ßìhß (B) |ºUì 

 (C) ÷μõ\ßjß ÷μõhß (D) £õÀkÂß 

 The ‘Big push’ theory was given by 

 (a) Leibenstein (b) Nurkse 

 (c) Rosetein Rodan (d) Boldwin 
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5. íμõk – ÷hõ©º ©õv›PÒ ————— |õmkUS 
ö£õ¸¢uõx. 

 (A) Aö©›UPõ (B) C¢v¯õ 

 (C) öáº©Û  (D) C[Q»õ¢x 

 Harrod – Domar models are not applicable to  
————— country. 

 (a) America  (b) India 

 (c) Germany  (d) England 

6. T¼ ö£õ¸Ò ©õv›ø¯ £›¢xøμzuÁº ¯õº? 

 (A) ÁUQÀ ©ØÖ® ¤μ©õÚ¢uõ 

 (B) |ºUì 

 (C) Rß_ 

 (D) ÷©ØTÔ¯ GÁ¸ªÀø» 

 Who advocated wage-good model? 

 (a) Vakil and Brahmananda 

 (b) Nurkse 

 (c) Keynes 

 (d) None of the above 

7. C¢v¯õ ö£õ¸ÍõuõμzvÀ ÷ÁÍõsø©°ß £[S 

 (A) AvP›zx Á¸QÓx 

 (B) SøÓ¢x Á¸QÓx 

 (C) {ø»¯õP EÒÍx 

 (D) ÷©ØTÔ¯ GxÄªÀø» 
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 The share of agriculture in Indian economy is 

 (a) increasing 

 (b) falling 

 (c) stationary 

 (d) none of the above 

8. uØ÷£õx C¢v¯õÂØS ÷uøÁ¯õÚx  

 (A) ‰»uÚ® ö\Ô¢u öuõÈÀ~m£® 

 (B) EøÇ¨¦a ö\Ô¢u öuõÈÀ~m£® 

 (C) |ÃÚ Âø»²¯º¢u öuõÈÀ~m£® 

 (D) CøÁ GxÄªÀø» 

 Today India needs 

 (a) capital intensive technology 

 (b) labour intensive technology 

 (c) ultra modern costly technology 

 (d) none of these 

9. C¢v¯õÂß •uÀ vmhUSÊÂß uø»Áº 

 (A) ÷»õP|õuß (B) K.N. ö\ß 

 (C) áÁíº»õÀ ÷|¸ (D) GÁ¸ªÀø» 

 The chairman of first planning commission of 
India was 

 (a) Lokanathan (b) K.N. Sen 

 (c) Jawaharlal Nehru (d) None  

[P.T.O.]
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10. CμshõÁx I¢uõsk vmhzvÀ —————US 
•UQ¯zxÁu® öPõkUP¨£mhx. 

 (A) ÂÁ\õ¯ ÁÍºa] 

 (B) öuõÈØ ÁÍºa] 

 (C) ÁÖø©ø¯ JÈ¨£x 

 (D) ußÛøÓÄ AøhÁx 

 The second five year plan gave top most priority to 
 (a) agricultural development 
 (b) industrial development 
 (c) poverty eradication  
 (d) attainment of self sufficiency 

PART B — (5  5 = 25 marks) 
Answer ALL questions, choosing either (a) or (b). 

Answer should not exceed 250 words. 
11. (A) ÁÖø©°ß |a_a`ÇÀ GßÓõÀ GßÚ? 

  What is meant by vicious circle of poverty? 
Or 

 (B) ö£õ¸Íõuõμ ÁÍºa] ©ØÖ® ö£õ¸Íõuõμ 
•ß÷ÚØÓzøu ÷ÁÖ£kzxP. 

  Distinguish between economic development 
and economic growth. 

12. (A) ÷μõì÷hõÂß TØÔß£i öuõßø©¯õÚ 
\•uõ¯zvß C¯À¦PÒ ¯õøÁ? 

  What are the features of traditional society 
according to Rostow? 

Or 



 

 Code No. : 22241B Page 6 

 (B) \›\© ÁÍºa] AqS•øÓ°ß SøÓ£õkPøÍ 
£mi¯¼kP. 

  List out the limitations of balanced growth 
strategy. 

13. (A) íμõk ÷hõ©º ©õv› ÁÍ¸® |õkPÐUS 
GÆÁøP°À ö£õ¸¢x®? 

  How the Harrod–Domar models are 
applicable to under developed countries? 

Or 

 (B) íμõk–÷hõ©º ©õv›°ß Gk÷PõÒPÒ ¯õøÁ? 

  What are the assumptions of Harrod-Domar 
model? 

14. (A) öuõÈÀ ~m£zvß ÷uøÁPøÍ TÖP. 

  State the need for technology. 

Or 

 (B) ÁÍ¸® |õkPÐUS EP¢u öuõÈÀ~m£zvøÚ 
GÆÁõÖ ÷uº¢öuk¨£õ´? 

  How do you select the technology suitable 
fort the developing countries? 

15. (A) I¢uõsk vmh[PÎß •UQ¯ SÔU÷PõÒPÒ 
¯õøÁ? 

  What are the important objectives of five 
year plans? 

Or 

 (B) _ÇÀ vmh® SÔzx SÔ¨¦ ÁøμP. 

  Write a short note on rolling plan. 
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PART C — (5  8 = 40 marks) 

Answer ALL questions, choosing either (a) or (b). 

Answer should not exceed 600 words. 

16. (A) ö£õ¸Íõuõμ ÁÍºa]US uøh¯õP EÒÍ 
PõμoPøÍ ÂÁ›. 

  Describe the factors hinders the economic 
development. 

Or 

 (B) J¸ ÁÍº¢x Á¸® |õmiß C¯À¦PøÍ 
ÂÍUSP. 

  Explain the characteristics of a developing 
country. 

17. (A) ©õºUêß ö£õ¸Íõuõμ ÁÍºa]U 
÷Põm£õmiøÚ vÓÚõ´Ä ö\´P. 

  Critically evaluate the Marxian theory of 
economic growth. 

Or 

 (B) ›UPõº÷hõÂß ÁÍºa]U ÷Põm£õmiøÚ ÂÁ›. 

  Describe the Ricardian theory of growth. 

18. (A) íμõk & ÷hõ©º ÁÍºa] ©õv›ø¯ ÂÍUSP. 

  Explain the Harrod – Domar growth model. 

Or 

 (B) T¼ ö£õ¸Ò ÁÍºa] ©õv›ø¯ ÂÍUSP. 

   Explain the wage-good model of growth. 
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19. (A) ‰»uÚ® ö\Ô¢u öuõÈÀ~m£zvØS BuμÁõÚ 
Áõu[PøÍ ÂÁ›. 

  Describe the arguments in favour of capital 
intensive technique. 

Or 

 (B) ö£õ¸Íõuõμ ÁÍºa]°À ÷ÁÍõsø©°ß 
£[QøÚ B´P. 

  Examine the role of agriculture in economic 
development. 

20. (A) I¢uõsk vmh[PÎß ÷uõÀÂUPõÚ 
Põμn[PøÍ B´P. 

  Examine the causes for the failure of five 
year plans. 

Or 

 (B) C¢v¯ vmh[PÎß \õuøÚPøÍ ÂÁ›. 

  Describe the achievements of planning in 
India. 

 

—————— 


